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A2 A| 7,300 7,300 0
203 HRF&Hl 7,300 7,300 0
02 ZFRIAHSF=EIH| 1,960 1,960 0
OFINMLREXHI(E2A4A) 40,000 » 49Y 1,960
04 FN2ILRFAHI 5,340 5,340 0
ORNSIL2FIHI(BEAHL) 5,340
—J|= 350,000 = 12& 4,200
— =t 5,000 » 199 » 12& 1,140
[2ZH(B2d) 99,486 90,242 9,244
Jl=3| 99,486 90,242 9,244
201 LBt 55,681 41,570 14,111
01 AFR 22| 55,681 41,570 14,111
ORME2ZEII=3HI 28,911
—SAAIAME 27,750 * 43| 111
—QRAEATY 60,000 * 5& 300
—BAHzAEAN A RO 30 = 1568 * 4,5108 2,030
-3t HEX 90,000 * 104Xt 900
—HEEE 700
2s 25,000 * 104Kt 250
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—WA ElY 50,000 * 74 350
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